

Article



Agreement and Differences between Fat Estimation Formulas Using Kinanthropometry in a Physically Active Population

Malek Mecherques-Carini¹, Francisco Esparza-Ros¹, Mario Albaladejo-Saura^{1,*} and Raquel Vaquero-Cristóbal^{1,2}

- ¹ Cátedra Internacional de Cineantropometría, UCAM Universidad Católica de Murcia, Av. de los Jerónimos 135, 30107 Murcia, Spain
- ² Facultad de Deporte, UCAM Universidad Católica de Murcia, Av. de los Jerónimos 135, 30107 Murcia, Spain
- * Correspondence: mdalbaladejosaura@ucam.edu; Tel.: +34-968-27-86-02

Abstract: The importance of fat mass estimation in multiple areas related to health and sports has led to the emergence of a large number of methods and formulas for its estimation. The aim of the present study was to compare the agreement and differences between different formulas for estimating fat mass by anthropometry. Eighty-seven subjects underwent an anthropometric assessment following the protocol from the International Society for the Advancement of Kinanthropometry (ISAK). The fat percentage was calculated with 14 different formulas for men and with 12 different formulas for women. In the case of men, they were proposed by Durnin-Womersley, Yuhasz, Faulkner, Carter, Peterson, Katch-McArdle, Sloan, Wilmore, Evans, Lean, Reilly, Civar, Hastuti, and Kerr. In the case of women, the equations used were those proposed by Durnin-Womersley, Yuhasz, Faulkner, Carter, Peterson, Katch-McArdle, Sloan, Wilmore, Evans, Lean, Thorland, and Kerr. Significant differences were found between the formulas in both men $(8.90 \pm 2.17\% \text{ to } 17.91 \pm 2.84\%; p$ < 0.001-0.016) and women (15.33 ± 2.94% to 28.79 ± 3.30%; p < 0.001-0.004). It was observed that in the case of men, the Carter and Yuhasz formulas and the Civar and Faulkner formulas showed moderate agreement with each other (CCC = 0.910-0.915). In the case of women, it was observed that the Carter and Yuhasz formulas showed moderate agreement with each other (CCC = 0.974). In conclusion, the formulas used for the estimation of lipid mass in anthropometry reported significantly different results between them and were therefore not comparable.

Keywords: adipose tissue; body fat; body weight; fat tissue; sports; health; kinanthropometry; performance; skinfolds

1. Introduction

The importance of body fat in multiple areas such as health, due to its association with various pathologies and their comorbidities, or sports, due to its relationship with the optimization of physical performance, has led the scientific community to look for different ways to quantify it [1–3]. However, in the classical approach to fat mass estimation, one of the main problems in estimating body composition, and more specifically its adipose component, has been the confusion in using the terms fat, lipids, and adiposity as synonyms, when they are not [4,5]. In this respect, body composition, regardless of the method used, can be approached based on five levels of increasing complexity [6–8]. Model 1, at the atomic level, considers body mass as the sum of the amount of hydrogen; carbon; oxygen; nitrogen, calcium, phosphorus, and other atoms. Model 2, at the molecular level, considers body mass as the sum of lipid mass and lipid-free mass, including water, proteins, carbohydrates, and minerals. Model 3, at the cellular level, considers body mass as the sum of fat mass, intracellular water, intracellular solids, extracellular water, and extracellular solids. Model 4, at the tissue level, considers body mass as the sum of adipose tissue, skeletal muscular mass, bone mass, and lean soft tissue, which

Citation: Mecherques-Carini, M.; Esparza-Ros, F.; Albaladejo-Saura, M.; Vaquero-Cristóbal, R. Agreement and Differences between Fat Estimation Formulas Using Kinanthropometry in a Physically Active Population. *Appl. Sci.* 2022, *12*, 13043. https://doi.org/10.3390/app122413043

Academic Editors: Jesús García Pallarés and René Schwesig

Received: 15 November 2022 Accepted: 15 December 2022 Published: 19 December 2022

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https://creativecommons.org/licenses/by/4.0/). includes connective tissue, and residual mass. Finally, Model 5 is based on a whole-body level of complexity, in which body mass is the sum of different body segments, such as the head, trunk, and limbs [7,8]. In this respect, it is important to differentiate that the adipose mass considers the totality of the adipocyte's components, 90% of which is fat and the remaining 10% water, minerals, proteins, etc. Of this fat component, 16% corresponds to glycerol and the remaining 83% corresponds to the lipid component inside the fat cell [7,8]. However, these three concepts have classically been used as homonyms in the estimation of body composition, inducing errors around 8–10% in the approach to the adipose component [9].

Considering the impossibility of measuring body composition directly, for which in vivo dissection would be necessary [10], previous studies have described a large number of methods to determine the adipose component of a subject, among which dual X-ray absorptiometry (DXA), bioimpedance (BIA) and anthropometry stand out as the most widely used [6]. DXA is based on absorptiometry through which the attenuation of emitted photons is detected [11]. This method estimates adipose mass using a tissue model approach (model 4) [6,7]. The most important advantages of this method are its ease of application, safety, and non-invasive nature [10]. However, it also has important disadvantages, such as the variability between devices, the difficulty in evaluating subjects taller than 190 cm, and its low accessibility [12]. On the other hand, BIA is a method based on the electrical conductivity properties of the different tissues of the human body [13]. This method performs lipid mass estimation using a molecular model approach (model 2) [7]. It is a fast, easy-to-apply, and non-invasive method, but it has limitations that affect its reliability and validity, calling into question not only the final lipid mass values given, but also the impedance value obtained from which the estimates are made [14]. More specifically, any context where total body water is affected will have a direct impact on impedance and therefore on the estimated lipid component [6,7,15] As a consequence of the above, although it is a relatively inexpensive method, it is only a valid method for assessing populations, but not individuals in particular [14], and its use in clinical practice is also limited because it is not reliable when evaluating the evolution of patients or athletes [16].

In the case of anthropometry, this technique makes it possible to estimate body adiposity by measuring skinfold, as the most commonly anthropometric used variable for this, as well as height, waist girth, and other abdominal girths in a simple, safe, and lowcost way measurements [10,17]. Its main advantage is that the results of the anthropometric assessment are not affected by total body water content or pre-measurement intakes, which facilitates its replicability [18]. Given the simplicity of the technique, and the speed and frequency of implementation that it allows due to its innocuousness, it is one of the fat mass estimation techniques with the best cost/benefit ratio [6]. In turn, when seeking to evaluate changes in adiposity levels over time, skinfold measurements has been proposed as the best tool, especially considering that other methods are affected by factors that are difficult to control and standardize, especially in the clinical setting, such as food intake, hydration levels or daily physical activity [6,18].

From an anthropometric point of view, it is possible to approach adiposity using molecular and tissue models [6,19]. More specifically, anthropometry allows the estimation of lipid mass following the molecular model (Model 2) by means of different equations validated [20–33], being this a double indirect method of estimating body composition since it uses a series of skinfolds to estimate body density through a regression equation; from the data obtained, another formula is used to estimate fat mass [8]. However, in this approach to lipid mass, it should be taken into consideration that lipid estimation formulas have been validated for a specific population with specific socio-demographic characteristics (sex, age, race, sports practice, pathologies, etc.) and should only be applied when the characteristics of the population to be analyzed have exactly the same characteristics [9]. However, the difficulty of doing this and the absence of formulas to assess some subjects whose characteristics do not fit with any of the specified validation populations has meant that classically the formulas are applied even when the population is not the same, and the results of these formulas have been compared as if they were interchangeable, in some cases not specifying the formula with which a subject or population have been evaluated in both scientific and clinical settings [34–36]. More specifically, in the assessment of adiposity in the active adult population, many formulas have been used [19–33] without taking into consideration, as can be seen in Table 1, the very specific populations for which they were validated. In addition, most of them have been validated using indirect methods as the gold standard, with few formulas being validated in comparison with the direct method such as cadaveric dissection [20,22,30,33].

While most anthropometric formulas have sought to estimate body lipid mass, Kerr's mathematical model for estimating body composition estimates subcutaneous adipose tissue (model 4) (Table 1), which considers adipose tissue as a whole [19], including in its estimation of other non-lipid components that are part of adipocytes, such as water and proteins, as it is a method of anatomical tissue fractionation [37], the same approach used by DXA, which has classically been considered the gold standard for body composition assessment [6,7]. One of the strongest points of the Kerr formula is that it includes the person's height in the analysis of adiposity. This allows the three-dimensionality of mass and limb length to be considered [19]. Moreover, its validation on cadavers' objective data from the dissection study carried out in Brussels [19] and its validation on populations with very heterogeneous characteristics makes it a reference value against which to compare adiposity, as has been done in previous studies where it has been used as the best formula for addressing adiposity in anthropometry [5,8,9]. In addition, Kerr's formula is a mathematical model that does not require the estimation of body density, so it is not a double indirect model but an indirect model, being on the same level in this sense as other methods such as DXA, air displacement plestimography or hydrodensitometry or hydrostatic weighing [6,7]. All these characteristics are why the Kerr method has been considered by many anthropometrists to be the gold standard equation within anthropometry for body composition assessment [5,8,9].

Formula	Population Characteristics	Variables Included	Estimated Component	Method of Validation
Durnin-Womersley	Moderately sedentary male and female populations (students, professionals, patients from an obesity clinic, sports clubs, and ballet dancers; four age groups)	Body mass; triceps, bi- ceps, subscapular and su- praspinale skinfolds	Lipid mass	Hydrodensi- tometry
Yuhasz	Elite male and female athletes (Olympic games)	Body mass; triceps, sub- scapular, supraspinale, abdominal, thigh, and calf skinfolds	Lipid mass	Hydrodensi- tometry
Faulkner	Male and female swimmers	Body mass; triceps, sub- scapular, supraspinale, abdominal skinfolds	Lipid mass	Hydrodensi- tometry
Carter	Elite male and female athletes (Olympic games)	Body mass; triceps, sub- scapular, supraspinale, abdominal, thigh, and calf skinfolds	Lipid mass	Hydrodensi- tometry
Peterson	Healthy white male and female adults	Body mass; triceps, sub- scapular, supraspinale, and thigh skinfolds	Lipid mass	DXA
Katch-McArdle	Physical education activity male and female students from New York (USA)	M = body mass; triceps, subscapular and ab- dominal skinfolds	Lipid mass	Hydrodensi- tometry

Table 1. Characteristics and information regarding the validation, variables and estimated component of the formulas used.

		F = body mass; triceps, subscapular and thigh skinfolds		
Sloan	White, healthy, South African medicine male and fe- male students (18 to 26 years old)	Body mass; subscapular and thigh skinfolds	Lipid mass	Hydrodensi- tometry and ul- trasound
Wilmore	Healthy male and female students from California University (USA)	M = body mass; ab- dominal and thigh skin- folds F = body mass; triceps, subscapular and thigh skinfolds	Lipid mass	Hydrodensi- tometry
Evans	White and Afro-American male and female collegiate athletes (football, basketball, volleyball, gymnastics, swimming and track and field)	Body mass; triceps, ab- dominal and thigh skin- folds	Lipid mass	DXA
Lean	White and healthy male and female from Glasgow (Scotland)	Body mass; triceps, bi- ceps, subscapular and iliac crest skinfolds	Lipid mass	Hydrodensi- tometry
Reilly	Professional male soccer players from Premier League clubs (UK)	Body mass; triceps, ab- dominal, thigh, and calf skinfolds	Lipid mass	DXA
Civar	Male university athletes	Body mass; triceps, bi- ceps, and abdominal skin- folds	Lipid mass	Hydrodensi- tometry
Hastuti	Healthy male adults from Indonesia	Body mass; triceps, bi- ceps, subscapular, and iliac crest skinfolds	Lipid mass	Deuterium ox- ide dilution
Thorland	Female athletes from USA national championships (track and field, gymnastics, diving, and wrestling)	Body mass; triceps, sub- scapular, and iliac crest skinfolds	Lipid mass	Hydrodensi- tometry
Kerr	Male and female population (6 to 77 years old; cyclists, Canadian elders, children and adolescents from the Coquitlam Growth Study, professional bodybuilders, Montreal Olympic Games athletes and Pan-American Games rowers)	Height; triceps, subscapu- lar, supraespinale, ab- dominal, thigh, and calf skinfolds	Adipose tis- sue	Cadaver dissec- tion

M: male; F: female.

A recent study found that the variability in the results obtained with four different anthropometric "fat" estimation formulas (really lipid or adipose mass) was high [5,38]. However, this study did not analyze the differences between the fat estimation formulas according to sex, despite the large differences in the distribution of adiposity between men and women [39], and the influence of biological variability on the validity of this type of formula [38]. Another limitation of this study was that it included formulas for estimating adipose mass and lipid mass, comparing them without making any adjustment, which is not conceptually correct as they are estimating different components, inducing errors around 8–10% [9].

For all the above reasons, a study comparing different "fat" estimation formulas in similar populations, that does not mix formulas where different approaches to body composition are taken [9], and differentiating the results between sexes [39], is therefore necessary in order to find out whether the results obtained by these classically used formulae are comparable or not [9]. Therefore, the aim of the present study was to analyze the differences and the degree of agreement between the most commonly used formulas for lipid estimation, among themselves and in comparison with Kerr's adiposity formula, once their lipid content was estimated; the similarity between the results reported by the different formulas in comparison with Kerr's formula as it is considered the gold standard

in anthropometry; as well as to establish their existing relationship with the different sums of skinfolds and BMI according to sex.

2. Materials and Methods

2.1. Design

The present research followed a descriptive, cross-sectional design. The sample recruitment was non-probabilistic by convenience. The calculation to establish the sample size was performed with Rstudio 3.15.0 software (Rstudio Inc., Boston, MA, USA) [40]. The significance level was set at α = 0.05. The standard deviation (SD) for total sample was set based on previous studies on the variables lipid percentage (SD = 5.25) and $\Sigma 6$ skinfolds (SD = 28.55) [8]. Click or tap here to enter text. With an estimated error of (d) 1.05% for lipid percentage and 5.9 mm for $\Sigma 6$ skinfolds, a sample of 90 subjects for the total group was required. In addition, the sample size for each sex was calculated based on previous research in men ($\Sigma 6$ skinfolds: SD = 17.89; and lipid percentage: SD = 1.73) [41] and in women ($\Sigma 6$ skinfolds: SD = 17.66; and lipid percentage: SD = 2.80) [42]. Click or tap here to enter text. With an estimated error of (d) 0.55 and 0.90% for lipid percentage and 5.8 and 5.7 mm for $\Sigma 6$ skinfolds, a sample of 37 men and women was required, respectively.

2.2. Participants

A total of 91 volunteers from the province of Buenos Aires (Argentina) were included, and their selection was non-probabilistic by convenience. Of these, 37 were male; and 54 were female. The inclusion criteria were: (1) being aged between 18 and 40 years; (2) being physically active, for which the IPAQ questionnaire was used to assess the physical activity level of the volunteers, with the World Health Organization (WHO) Global Physical Activity Recommendations for Health used as criteria, (3) having a body mass index (BMI) in the normal range according to the WHO (18.5–24.9 kg/m²) and (4) having neither any disease that could affect body fat nor undergone hormonal or corticosteroid treatment in the three months prior to the evaluation. The exclusion criteria were as follows: (1) within the 24 h prior to the measurement session, they had performed vigorous physical exercise, or 12 h in case of moderate exercise, or any kind of physical exercise on the same day; (2) within the 24 h prior to the measurement session, they consumed products with diuretic properties, or ate a heavy meal; (3) having any injury or pathology that conditioned the taking of measurements; and (4) for female participants, being between the 8th and 21st days of their menstrual cycle.

2.3. Procedure

The Ethics Committee from Catholic University San Antonio of Murcia (Murcia, Spain) reviewed and authorized the protocol designed for data collection, considering the World Medical Association Code (CE062103). All points of the Declaration of Helsinki were followed throughout the process. Participants were informed about the procedure and signed a consent form prior to starting the study. The protocol was registered at ClinicalTrials.gov (ClinicalTrials.gov Identifier: NCT04429581).

First, the participants were asked to complete an ad hoc questionnaire to provide information on basic demographics (sex and age), diseases that could affect body fat (illnesses and injuries in the last six months, chronic illness and surgeries), medication taken regularly, hormonal or corticosteroid treatment (daily or occasional treatment in the last six months), last menstrual period for women, and food intake (24 h dietary recall—24HR) and sports practice (24 h exercise recall) in the last 24 h, based on previous studies [8,42].

They also self-completed the IPAQ questionnaire, previously validated in Spanish, with a good reliability (r = 0.82) and an acceptable validity [43]. In this study, the last 7 days self-administered long form of the IPAQ was used. The questionnaire evaluates physical activity at work, for transportation, during leisure time, and at home. The

frequency (per week) and time spent on vigorous- and moderate-intensity activities and the time spent walking are registered for each category, together with the time spent sitting during a workday and on a weekend day. Explanations and practical examples for vigorous and moderate physical activities are given. To be registered, an activity must last at least 10 min, following the methodology of previous studies [43]. For data analysis, moderate intensity was defined as 4 METs (metabolic equivalent task) and vigorous intensity as more than 8 METs [44]. Walking activity was defined as 3.3 METs. One MET is the energy expended at rest and is defined as $3.5 \text{ mL O}_2 \times \text{kg}^{-1} \times \text{min}^{-1}$. Active subjects were considered to be those who had a weekly metabolic expenditure above 600 METs [45].

Second, all the measurements were performed in a single session in a room with a standardized temperature of 24 °C, between 8:30 am and 1:30 pm. The anthropometric variables were taken following the protocol from the International Society for the Advancement of Kinanthropometry (ISAK) [46]. Basic measurements such as body mass and height, together with triceps, subscapular, biceps, iliac crest, supraspinal, abdominal, thigh, and leg skinfolds were taken by an ISAK level 3 certified anthropometrist. To measure the body mass, the subject stood with minimal clothing in the center of the scale without support and with the weight distributed evenly on both feet. Regarding height, it was measured after having positioned its head in the Frankfort plane during a deep breath. All skinfold measurements followed the same technique. The nearer edge of the contact faces of the caliper was applied 1 cm away from the skinfold landmark done before and at the same depth that the digits that hold the fold were located. Measurements were recorded two seconds after the full pressure of the caliper was applied. A SECA 862 weighing scale (SECA, Hamburg, Germany) with an accuracy of 100 g was used for body mass, a SECA 213 portable stadiometer (SECA, Hamburg, Germany) with an accuracy of 0.1 mm was used for height measurement, and a Harpenden calliper (Harpenden, London, UK) with an accuracy of 0.2 mm was used for skinfolds. Each measurement was taken twice. If the difference between them was greater than 1% for the basic measurements or greater than 5% for the skinfolds, a third measurement was taken. The final value considered for data analysis was the mean if two measurements were taken or the median if three measurements were taken. The intra-evaluator technical error of measurement (TEM) was 0.01% for basic measurements and 1.12% for skinfolds.

For the estimation of lipid mass and its percentages in men, all the equations that had been validated in a young population were used: they were proposed by Durnin-Womersley [20], Yuhasz [21], Faulkner [22], Carter [23], Peterson [24], Katch-McArdle [25], Sloan [26], Wilmore [27], Evans [28], Lean [29], Reilly [32], Civar [31], and Hastuti [33]. In the case of women, the equations used were those proposed by Durnin-Womersley [20], Yuhasz [21], Faulkner [22], Carter [23], Peterson [24], Katch-McArdle [25], Sloan [26], Wilmore [27], Evans [28], Lean [29], Peterson [24], Katch-McArdle [25], Sloan [26], Wilmore [27], Evans [28], Lean [29], and Thorland [30]. In both cases, the formula proposed by Kerr was also included, although as it is a formula that estimates adiposity, its lipid content was calculated by linear regression assuming a minimum percentage error with Martin's formula [19,47].

Body mass index (BMI) (body mass in kg/height in m²), the sum of four skinfolds (triceps, subscapular, biceps, and supraspinal), the sum of six skinfolds (triceps, subscapular, supraspinal, abdominal, thigh and leg), and the sum of eight skinfolds (triceps, subscapular, biceps, iliac crest, supraspinal, abdominal, thigh, and leg), were also calculated.

2.4. Statistical Analysis

The distribution (Kolmogorov–Smirnov test), kurtosis, and asymmetry of the variables were calculated. Levene's test was used to assess the homogeneity of the variables. The analysis of skewness and kurtosis showed a platykurtic distribution for all variables. As a normal and homogeneous distribution of the variables was found, parametric tests were performed. Descriptive statistics were performed for the variables analyzed. Differences between adiposity equations were analyzed by a one-way analysis of variance

(ANOVA) for repeated measurements. The Bonferroni post hoc adjustment was used to analyze differences between groups when these differences were significant. The effect size for the pairwise comparisons was calculated with Cohen's D. The confidence interval (CI) of the differences (95% CI) was included. Threshold values for effect size were set as \geq 0.2 (small), \geq 0.5 (moderate), and \geq 0.8 (large). Percentile analysis of the different variables was also included. The software used in the statistical analysis was SPSS (v.23, IBM, Endicott, NY, USA). Agreement between equations was determined using Lin's concordance correlation coefficient (CCC), including precision (Q) and accuracy (Cb) indexes, and by McBride's strength concordance (almost perfect > 0.99; substantial > 0.95 to 0.99; moderate = 0.90-0.95; and poor < 0.90), following previous research [48,49]. A Pearson's correlation test and a Bland-Altman test were used to determine the agreement and interchangeability between the different equations. For Pearson's correlation, the following ranges were established: r < 0.5 for low correlation, 0.5–0.7 for moderate correlation, and >0.7 for high correlation [50]. The software used to perform Lin's concordance correlation, Pearson's correlation, and the Bland-Altman test was MedCalc Statistical Software v.20.106 (Mariakerke, Belgium). For all the statistical tests, the significance level was set a priori at $p \le 0.05$.

3. Results

Socio-demographic characteristics were mean age: 26.3 ± 6.25 years old; mean body mass: 70.83 ± 6.13 kg; men height: 175.30 ± 6.42 cm for men; and mean age: 26.53 ± 5.39 years old; mean body mass: 58.02 ± 6.70 kg; mean height: 161.87 ± 5.57 cm for women.

3.1. Descriptive Analysis and Differences between Lipid Mass Estimation Formulas

Descriptive analysis of BMI, sum of 4, 6, and 8 skinfolds and lipid percentages estimated by the different formulas for males and females are shown in Table 2. Differences between lipid percentage formulas were significant for both men (mean diff = -9.88-9.03; p < 0.001-0.016; ES = 0.05-0.70; 95%CI = -11.57-10.33) and women (mean diff = -12.01-13.46; p < 0.001-0.010; ES = 0.00-5.37; 95%CI = -12.79-14.27). Therefore, a pairwise comparison of the formulas was performed, the results of which are shown in Tables 3 and 4 for males and females, respectively. Significant differences were found in the pairwise comparison for most of the formulas for both males and females.

Variable	Men	(n = 37)	Women (n	= 54)
variable	Mean ± SD	MaxMin.	Mean ± SD	MaxMin.
BMI	23.03 ± 1.39	24.48-19.35	22.07 ± 1.54	24.50-18.50
Σ 4 skinfolds (mm)	35.50 ± 11.71	63.50–19.75	46.60 ± 14.22	80.10-22.25
∑6 skinfolds (mm)	60.14 ± 20.64	120.25-36.25	85.26 ± 21.61	133.75-42.50
$\sum 8$ skinfolds (mm)	78.30 ± 27.35	153.25-44.75	106.83 ± 28.28	170.25-51.25
% Carter	8.90 ± 2.17	15.21-6.38	16.77 ± 3.34	24.28-10.15
% Civar	12.40 ± 2.65	20.22-9.35	-	
% Durnin	12.95 ± 3.76	21.63-7.21	23.38 ± 5.07	35.72-13.03
% Evans	17.72 ± 3.17	27.24-13.92	15.33 ± 2.94	21.88-8.81
% Faulkner	12.11 ± 2.15	18.02–9.49	18.90 ± 3.56	27.98-13.11
% Hastuti	17.91 ± 2.84	24.84-14.17	-	
% Katch	10.71 ± 3.04	19.17-6.81	18.37 ± 2.93	25.63-13.02
% Kerr	16.04 ± 4.89	33.39-10.47	22.73 ± 5.41	39.71-10.57
% Lean	14.50 ± 4.59	24.84-7.25	26.31 ± 4.11	35.51-17.56
% Peterson	18.78 ± 4.30	29.56-12.00	28.79 ± 3.30	33.88-21.88
% Reilly	11.45 ± 2.33	18.10-8.84	-	
% Sloan	9.73 ± 3.67	21.01-5.48	21.46 ± 3.54	29.06-14.94

Table 2. Descriptive analysis of anthropometric variables and lipid percentages in men and women.

% Thorland	-		20.03 ± 5.55	33.20-10.67	
% Wilmore % Yuhasz	14.03 ± 3.10 8 90 + 2 17	23.48-10.06	23.92 ± 2.03 16 77 + 3 34	28.43–20.51 24.28–10.15	
% Tullasz	8.90 ± 2.17	13.22-6.39	10.77 ± 5.34	24.20-10.13	

BMI: body mass index; %: percentage of fat mass.

Table 3. Differences between lipid formulas in mean of percentages in men.

Formulas	Mean Differences ±	95%IC (Lower; Upper)	p Value	Cohen's d
	Standard Error			
% Carter–% Peterson	-9.887 ± 0.398	-11.570;-8.205	<i>p</i> < 0.001	2.90
% Carter–% Katch	-1.814 ± 0.179	-2.572;-1.056	<i>p</i> < 0.001	0.69
% Carter–% Sloan	-0.831 ± 0.304	-2.117;0.454	p = 1.000	0.28
% Carter–% Wilmore	-5.135 ± 0.213	-6.036;-4.234	p < 0.001	1.92
% Carter–% Evans	-8.829 ± 0.182	-9.598; -8.059	p < 0.001	3.25
% Carter–% Lean	-5.607 ± 0.492	-7.687;-3.526	p < 0.001	1.56
% Carter–% Reilly	-2.551 ± 0.70	-2.848;-2.254	p < 0.001	1.13
% Carter–% Civar	-3.503 ± 0.140	-4.093;-2.912	p < 0.001	1.45
% Carter–% Hastuti	-9.018 ± 0.189	-9.819;-8.217	<i>p</i> < 0.001	3.57
% Civar–% Hastuti	-5.515 ± 0.176	-6.259;-4.770	<i>p</i> < 0.001	2.49
% Durnin–% Yuhasz	4.054 ± 0.385	2.417;5.673	<i>p</i> < 0.001	1.32
% Durnin-% Faulkner	0.833 ± 0.366	-0.716;2.383	p = 1.000	0.27
% Durnin–% Carter	4.050 ± 0.385	2.422;5.678	<i>p</i> < 0.001	1.32
% Durnin-% Peterson	-5.837 ± 0.348	-7.310;-4.364	p < 0.001	1.44
% Durnin–% Katch	2.236 ± 0.311	0.919;3.553	p < 0.001	0.66
% Durnin–% Sloan	3.219 ± 0.460	1.274;5.163	p < 0.001	0.87
% Durnin-% Wilmore	-1.085 ± 0.403	-2.788;0.618	p = 1.000	0.31
% Durnin–% Evans	-4.779 ± 0.397	-6.458:-3.099	p < 0.001	1.37
% Durnin–% Lean	-1.557 ± 0.268	-2.690;-0.424	p < 0.001	0.37
% Durnin–% Reilly	1.499 ± 0.406	-0.218:3.216	p < 0.001	0.48
% Durnin–% Civar	0.547 ± 0.358	-0.968:2.062	p = 1.000	0.17
% Durnin–% Hastuti	-4.968 ± 0.268	-6.103:-3.832	p < 0.001	1.49
% Evans–% Lean	3.222 ± 0.452	1.309:5.134	p < 0.001	0.82
% Evans–% Reilly	6.277 ± 0.148	5.652:6.902	p < 0.001	2.25
% Evans–% Civar	5.326 ± 0.188	4.530:6.122	p < 0.001	1.82
% Evans=% Hastuti	-0.189 ± 0.243	-1 216:0 838	p = 1.000	0.06
% Faulkper-% Carter	3217 ± 0.120	2 711.3 722	p = 1.000 n < 0.001	1 49
% Faulkner_% Peterson	-6.671 ± 0.436	-8 514:-4 827	p < 0.001 n < 0.001	1.96
% Faulkner-% Katch	1403 ± 0.172	0.677.2.128	p < 0.001	0.53
% Faulkner-% Sloan	2385 ± 0.397	0.709:4.062	p < 0.001	0.79
% Faulkner_% Wilmore	-1.918 ± 0.202	-2 774:-1 063	p < 0.001 n < 0.001	0.79
% Faulkner_% Evans	-5.612 ± 0.252	-6 687:-4 537	p < 0.001 n < 0.001	2.07
% Faulkner_% Lean	-2390 ± 0.488	-4 455:-0 326	p < 0.001 n = 0.007	0.67
% Faulkner_% Reilly	0.665 ± 0.181	-0 101:1 /32	p = 0.007 n = 0.254	0.29
% Faulkner_% Civar	-0.286 ± 0.161	-0.983:0.410	p = 0.254 n = 1.000	0.12
% Faulkpor % Hastuti	$-5,801 \pm 0.189$	-6 599:-5 003	p = 1.000	2 30
% Katch % Sloap	-3.001 ± 0.109	-0.384:2.348	p < 0.001	2.30
% Katch % Milmoro	-2.221 ± 0.323	-4.080:-2.542	p < 0.001	1.08
% Katch=% Winnore	-7.015 ± 0.172	-7.745,-6.285	p < 0.001	2.00
% Katch % Loop	-7.015 ± 0.175	= 7.745,=0.265 = 429, 0.149	p < 0.001	2.20
% Katch= % Doilly	-3.795 ± 0.369	1 562.0 088	p < 0.001	0.97
% Katch % Civer	-0.750 ± 0.195 -1.680 ± 0.120	-1.000;0.000	p = 0.185	0.27
% Katch % Usetati	-1.007 ± 0.107	-2.279, -1.099	p < 0.001	0.39
% Korn % Contor	-7.204 ± 0.132 7.002 ± 0.401	=7.040,=0.300 5.140.9.964	p < 0.001	2.40
% Kerr-% Carter	7.002 ± 0.491	5.140;8.864 1.772.5 (22	p < 0.001	1.89
% Kerr-% Civar	3.097 ± 0.508	1.772;5.622	p < 0.001	0.93
% Kerr–% Durnin	2.862 ± 0.601	0.582;5.141	p = 0.003	0.71
% Kerr–% Evans	-1.625 ± 0.363	-3.001;-0.248	p = 0.007	0.41
% Kerr–% Faulkner	3.731 ± 0.542	1.6/6;5./8/	<i>p</i> < 0.001	1.04

% Kerr-% Hast	tuti	-1.875 ± 0.507	-3.798;0.047	p = 0.065	0.47
% Kerr–% Kat	ch	5.359 ± 0.459	3.618;7.100	<i>p</i> < 0.001	1.31
% Kerr–% Lea	an	1.563 ± 0.566	-0.586;3.711	p = 0.824	0.32
% Kerr-% Peter	son	-2.717 ± 0.439	-4.383;-1.052	<i>p</i> < 0.001	0.60
% Kerr–% Rei	lly	4.658 ± 0.473	2.863;6.454	<i>p</i> < 0.001	1.20
% Kerr-% Sloa	an	6.368 ± 0.351	5.037;7.699	<i>p</i> < 0.001	1.46
% Kerr–% Wilm	nore	2.013 ± 0.418	0.428;3.599	p = 0.002	0.49
% Kerr–% Yuh	asz	7.162 ± 0.492	5.295;9.029	<i>p</i> < 0.001	1.89
% Lean–% Rei	lly	3.056 ± 0.499	0.945;5.166	<i>p</i> < 0.001	0.84
% Lean–% Civ	ar	2.104 ± 0.456	0.176;4.032	p = 0.016	0.56
% Lean–% Has	tuti	-3.411 ± 0.330	-4.806;-2.016	<i>p</i> < 0.001	0.89
% Peterson-% K	latch	8.073 ± 0.315	6.743;9.403	<i>p</i> < 0.001	2.17
% Peterson-% S	loan	9.056 ± 0.303	7.773;10.339	<i>p</i> < 0.001	2.26
% Peterson-% Wi	lmore	4.752 ± 0.394	3.084;6.420	<i>p</i> < 0.001	1.27
% Peterson-% E	vans	1.059 ± 0.312	-0.259;2.376	p = 0.544	0.28
% Peterson-% L	lean	4.280 ± 0.253	3.212;5.348	<i>p</i> < 0.001	0.96
% Peterson-% R	eilly	7.336 ± 0.385	5.706;8.966	<i>p</i> < 0.001	2.12
% Peterson-% C	Civar	6.384 ± 0.383	4.764;8.005	<i>p</i> < 0.001	1.79
% Peterson-% Ha	astuti	0.869 ± 0.290	-0.357;2.096	p = 1.000	0.24
% Reilly-% Civ	var	-0.952 ± 0.149	-1.581;-0.322	<i>p</i> < 0.001	0.38
% Reilly-% Has	stuti	-6.466 ± 0.219	-7.391;-5.542	<i>p</i> < 0.001	2.49
% Sloan–% Wilr	nore	-4.304 ± 0.351	-5.786;-2.821	<i>p</i> < 0.001	1.27
% Sloan–% Eva	ans	-7.977 ± 0.213	-8.896;-7.098	<i>p</i> < 0.001	2.33
% Sloan–% Le	an	-4.776 ± 0.479	-6.800;-2.751	<i>p</i> < 0.001	1.15
% Sloan–% Rei	illy	-1.720 ± 0.272	-2.869;-0.571	<i>p</i> < 0.001	0.56
% Sloan–% Civ	var	-2.672 ± 0.336	-4.091;-1.252	<i>p</i> < 0.001	0.83
% Sloan–% Has	tuti	-8.186 ± 0.329	-9.576;-6.797	<i>p</i> < 0.001	2.49
% Wilmore–% E	vans	-3.694 ± 0.182	-4.464;-2.924	<i>p</i> < 0.001	1.18
% Wilmore–% I	Lean	-0.472 ± 0.470	-2.459;1.515	p = 1.000	0.12
% Wilmore–% R	eilly	2.584 ± 0.230	1.610;3.557	<i>p</i> < 0.001	0.94
% Wilmore–% C	Civar	1.632 ± 0.233	0.646;2.618	<i>p</i> < 0.001	0.57
% Wilmore–% Ha	astuti	-3.883 ± 0.265	-5.004;-2.762	p < 0.001	1.31
% Yuhasz–% Fau	lkner	-3.212 ± 0.120	-3.717;-2.706	p < 0.001	1.49
% Yuhasz–% Ca	arter	0.005 ± 0.000	0.005;0.005	<i>p</i> < 0.001	0.00
% Yuhasz–% Pete	erson	-9.882 ± 0.398	-11.565;-8.20	p < 0.001	2.90
% Yuhasz–% Ka	atch	-1.809 ± 0.179	-2.567;-1.051	p < 0.001	0.69
% Yuhasz–% Sl	oan	-0.826 ± 0.304	-2.112;0.459	p = 1.000	0.28
% Yuhasz–% Wil	more	-5.130 ± 0.213	-6.031;-4.229	p < 0.001	1.92
% Yuhasz–% Ev	ans	-8.824 ± 0.182	-9.593;-8.054	p < 0.001	3.25
% Yuhasz–% L	ean	-5.602 ± 0.492	-7.682;-3.521	<i>p</i> < 0.001	1.56
% Yuhasz–% Re	eilly	-2.546 ± 0.70	-2.843;-2.249	<i>p</i> < 0.001	1.13
% Yuhasz–% Ci	ivar	-3.498 ± 0.140	-4.088;-2.907	<i>p</i> < 0.001	1.45
% Yuhasz–% Ha	stuti	-9.013 ± 0.189	-9.814;-8.212	<i>p</i> < 0.001	3.57

NOTE: displayed with a grey background when the pairwise comparison is sig.

· · ·

Formulas	Mean Differences ± Standard Error	95%IC (Lower; Upper)	<i>p</i> Value	Cohen's d
% Carter-% Peterson	-12.018 ± 0.191	-12.796;-11.240	p < 0.001	3.62
% Carter–% Katch	-1.594 ± 0.331	-2.942;-0.247	p = 0.004	0.51
% Carter–% Sloan	-4.689 ± 0.190	-5.463;-3.914	p < 0.001	1.36
% Carter-% Thorland	-3.252 ± 0.380	-4.802;-1.703	p < 0.001	2.59
% Carter-% Wilmore	-7.147 ± 0.220	-8.046;-6.249	p < 0.001	0.46
% Carter–% Evans	1.444 ± 0.138	0.883;2.005	p < 0.001	2.55
% Carter–% Lean	-9.534 ± 0.264	-10.609;-8.458	p < 0.001	0.71
% Durnin–% Yuhasz	6.610 ± 0.303	5.375;7.846	<i>p</i> < 0.001	1.33

% Durnin–% Faulkner	4.487 ± 0.273	3.375;5.599	p < 0.001	0.88
% Durnin–% Carter	6.610 ± 0.303	5.375;7.846	p < 0.001	1.33
% Durnin-% Peterson	-5.408 ± 0.352	-6.843;-3.972	p < 0.001	1.13
% Durnin-% Katch	5.015 ± 0.532	2.847;7.185	p < 0.001	1.03
% Durnin–% Sloan	1.922 ± 0.317	0.631;3.213	p < 0.001	0.37
% Durnin-%Thorland	3.358 ± 0.281	2.213;4.504	p < 0.001	0.14
% Durnin-% Wilmore	-0.537 ± 0.450	-2.371;1.297	p = 1.000	1.67
% Durnin–% Evans	8.054 ± 0.382	6.498;9.610	p < 0.001	0.58
% Durnin–% Lean	-2.923 ± 0.288	-4.097;-1.750	p < 0.001	0.56
% Evans–% Lean	-10.978 ± 0.302	-12.209;-9.747	p < 0.001	1.29
% Faulkner–% Carter	2.124 ± 0.150	1.511;2.736	p < 0.001	0.62
%Faulkner-%Peterson	-9.894 ± 0.253	-10.927;-8.862	p < 0.001	2.88
% Faulkner–% Katch	0.529 ± 0.370	-0.979;2.038	p = 1.000	0.16
% Faulkner–% Sloan	-2.565 ± 0.250	-3.401;-1.728	p < 0.001	0.72
%Faulkner-%Thorland	-1.128 ± 0.336	-2.499;0.242	p = 0.476	1.73
%Faulkner-%Wilmore	-5.024 ± 0.254	-6.058;-3.989	p < 0.001	1.09
% Faulkner–% Evans	3.567 ± 0.239	2.594;4.541	p < 0.001	1.93
% Faulkner–% Lean	-7.410 ± 0.267	-8.499;-6.321	p < 0.001	0.24
% Katch–% Sloan	-3.094 ± 0.404	-4.743;-1.445	p < 0.001	0.95
% Katch-% Thorland	-1.658 ± 0.537	-3.847;0.532	p = 1.000	2.20
% Katch-% Wilmore	-5.553 ± 0.230	-6.490;-4.615	p < 0.001	1.04
% Katch–% Evans	3.038 ± 0.363	1.558;4.518	p < 0.001	2.22
% Katch–% Lean	-7.939 ± 0.424	-9.668;-6.211	p < 0.001	0.37
%Kerr–%Carter	6.107 ± 0.343	4.882;7.333	p < 0.001	1.33
%Kerr–%Durnin	-0.465 ± 0.396	-1.880;0.949	p = 1.000	0.10
% Kerr–% Evans	7.325 ± 0.436	5.769;8.881	p < 0.001	0.75
%Kerr–%Faulkner	3.933 ± 0.392	2.534;5.332	p < 0.001	0.84
% Kerr-% Katch	4.331 ± 0.554	2.352;6.309	p < 0.001	1.00
% Kerr–% Lean	-3.611 ± 0.454	-5.233;-1.990	p < 0.001	0.49
%Kerr-% Peterson	-6.085 ± 0.464	-7.743;-4.427	p < 0.001	1.35
% Kerr–% Sloan	1.247 ± 0.415	-0.233;2.728	p = 0.262	0.28
%Kerr–%Thorland	2.601 ± 0.440	1.028;4.173	p < 0.001	0.29
%Kerr-%Wilmore	-1.188 ± 0.512	-3.016;0.640	p = 1.000	1.70
% Kerr-% Yuhasz	5.999 ± 0.340	4.784;7.214	p < 0.001	1.33
% Peterson–% Katch	10.424 ± 0.318	9.126;11.721	p < 0.001	3.34
% Peterson–% Sloan	7.330 ± 0.190	6.553;8.106	p < 0.001	2.14
% Peterson– % Thorland	8.766 ± 0.389	7.181;10.351	p < 0.001	1.78
%Peterson-%Wilmore	4.871 ± 0.229	3.937;5.805	p < 0.001	4.31
% Peterson–% Evans	13.462 ± 0.198	12.656;14.268	p < 0.001	0.67
% Peterson-% Lean	2.484 ± 0.240	1.504;3.464	p < 0.001	1.92
% Sloan–% Thorland	1.436 ± 0.315	0.152;2.721	p = 0.010	0.85
% Sloan-% Wilmore	-2.459 ± 0.262	-3.527;-1.390	p < 0.001	1.88
% Sloan–% Evans	6.132 ± 0.196	5.334;6.931	p < 0.001	1.26
% Sloan–% Lean	-4.845 ± 0.236	-5.807;-3.883	p < 0.001	0.31
% Thorland–%Wilmore	-3.895 ± 0.497	-5.920;-1.870	p < 0.001	3.40
% Thorland–% Evans	4.696 ± 0.460	2.821;6.571	p < 0.001	0.74
% Thorland–% Lean	-6.282 ± 0.327	-7.615;-4.948	p < 0.001	0.93
% Wilmore–% Evans	8.591 ± 0.214	7.719;9.463	p < 0.001	3.07
% Wilmore–% Lean	-2.387 ± 0.339	-3.770;-1.003	p < 0.001	1.06
%Yuhasz–%Faulkner	-2.124 ± 0.150	-2.736;-1.511	p < 0.001	0.62
% Yuhasz–% Carter	0.000 ± 0.000	0.000;0.000	<i>p</i> < 0.001	0.00

%Yuhasz–% Peterson	-12.018 ± 0.191	-12.796;-11.240	<i>p</i> < 0.001	3.62
% Yuhasz–% Katch	-1.594 ± 0.331	-2.942;-0.247	p = 0.004	0.51
% Yuhasz–% Sloan	-4.689 ± 0.190	-5.463;-3.914	p < 0.001	1.36
%Yuhasz–% Thorland	-3.252 ± 0.380	-4.802;-1.703	p < 0.001	2.59
%Yuhasz–% Wilmore	-7.147 ± 0.220	-8.046;-6.249	p < 0.001	0.46
% Yuhasz–% Evans	1.444 ± 0.138	0.883;2005	p < 0.001	2.55
% Yuhasz–% Lean	-9.534 ± 0.264	-10.609;-8.458	p < 0.001	0.71

NOTE: Displayed with a grey background when the pairwise comparison is sig.

3.2. Agreement and Concordance between Lipid Mass Estimation Formulas

Tables 5 and 6 show Lin's CCC between formulas. It can be observed that in the case of men, the Carter and Yuhasz formulas and the Civar and Faulkner formulas showed a moderate agreement with each other (CCC = 0.910-0.915). In the case of females, the Carter and Yuhasz formulas showed a moderate agreement with each other (CCC = 0.974). The rest of the formulas showed poor agreement. Table 7 presents the results corresponding to the Bland–Altman test for men and women, comparing the results found in the different formulas with those found with the Kerr formula after converting the result of the Kerr formula into lipid mass. Differences were observed between all formulas in males, and also in females, with the exception of the Kerr formula with the Durnin formula (p = 0.245). For men, the Yuhasz, Carter, and Sloan formulas showed the highest lipid underestimation as compared to Kerr, while the Peterson, Hastuti, and Evans formulas showed an overestimation. In women, the Yuhasz, Carter, and Evans formulas were underestimated relative to Kerr, while the Peterson and Lean formulas showed an overestimation.

Percentile relationships between BMI, skinfold sum, and adiposity formulas in men and women, respectively, can be found in Tables 8 and 9.

	Variable	Lin's Concordance Correlation Coefficient		
	variable	CCC	Q	СЪ
	% Carter	0.496	0.916	0.541
	% Durnin	0.700	0.838	0.836
	% Evans	0.318	0.932	0.341
	% Faulkner	0.915	0.919	0.996
	% Hastuti	0.287	0.930	0.308
	% Katch	0.801	0.966	0.830
% Civar	% Kerr	0.467	0.843	0.554
	% Lean	0.607	0.843	0.720
	% Peterson	0.467	0.843	0.554
	% Reilly	0.850	0.932	0.911
	% Sloan	0.558	0.823	0.678
	% Wilmore	0.753	0.912	0.826
	% Yuhasz	0.440	0.958	0.459
	% Durnin	0.532	0.907	0.586
	% Evans	0.159	0.917	0.173
	% Faulkner	0.626	0.979	0.639
% Cartor	% Hastuti	0.140	0.892	0.157
70 Carter	% Katch	0.774	0.915	0.846
	% Kerr	0.271	0.850	0.319
	% Lean	0.323	0.778	0.415
	% Peterson	0.163	0.883	0.184

Table 5. Lin's concordance correlation coefficient between the different formulas in men.

	% Reilly	0.607	0.916	0.662
	% Sloan	0.839	0.892	0.941
	% Wilmore	0.328	0.842	0.389
	% Yuhasz	0.910	0.935	0.973
	% Evans	0.417	0.768	0.542
	% Faulkner	0.819	0.924	0.886
	% Hastuti	0.451	0.909	0.496
	% Katch	0.652	0.862	0.757
	% Kerr	0.579	0.695	0.833
% Durnin	% Lean	0.856	0.894	0.958
	% Peterson	0.466	0.865	0.539
	% Reilly	0.535	0.767	0.698
	% Sloan	0.520	0.744	0.698
	% Wilmore	0.662	0.722	0.918
	% Yuhasz	0.355	0.816	0.435
	% Faulkner	0.311	0.864	0.360
	% Hastuti	0.875	0.880	0.994
	% Katch	0.249	0.940	0.265
	% Kerr	0.788	0.952	0.828
0/ F	% Lean	0.552	0.807	0.684
% Evans	% Peterson	0.824	0.910	0.905
	% Reilly	0.240	0.993	0.242
	% Sloan	0.228	0.932	0.245
	% Wilmore	0.553	0.954	0.580
	% Yuhasz	0.136	0.984	0.138
	% Hastuti	0.295	0.904	0.326
	% Katch	0.800	0.935	0.855
	% Kerr	0.450	0.767	0.587
	% Lean	0.597	0.790	0.756
% Faulkner	% Peterson	0.289	0.847	0.341
% Faulkner	% Reilly	0.772	0.850	0.908
	% Sloan	0.228	0.932	0.245
	% Wilmore	0.713	0.846	0.844
	% Yuhasz	0.434	0.901	0.482
	% Katch	0.229	0.952	0.240
	% Kerr	0.632	0.808	0.782
	% Lean	0.607	0.959	0.633
	% Peterson	0.864	0.959	0.901
% Hastuti	% Reilly	0.193	0.881	0.219
	% Sloan	0.187	0.840	0.222
	% Wilmore	0.454	0.855	0.531
	% Yuhasz	0.116	0.927	0.125
	% Kerr	0.401	0.858	0.468
	% Lean	0.540	0.884	0.611
	% Peterson	0.247	0.001	0.269
% Katch	% Reilly	0.856	0.932	0.209
/0 1100011	% Sloan	0.000	0.836	0.940
	% Wilmore	0.700	0.000	0.740
	% Yuhacz	0.002	0.944	0.010
% Korr	% Loop	0.750	0.707	0.730
/0 INC11	/o Ledii	0.095	0.730	0.744

	% Peterson	0.632	0.941	0.671
	% Reilly	0.399	0.957	0.417
	% Sloan	0.407	0.922	0.442
	% Wilmore	0.718	0.893	0.804
	% Yuhasz	0.240	0.938	0.255
	% Peterson	0.632	0.941	0.671
	% Reilly	0.454	0.809	0.561
% Lean	% Sloan	0.435	0.771	0.564
	% Wilmore	0.731	0.791	0.924
	% Yuhasz	0.283	0.843	0.336
	% Reilly	0.215	0.915	0.235
0/ Detersor	% Sloan	0.234	0.903	0.260
% reterson	% Wilmore	0.437	0.841	0.520
	% Yuhasz	0.136	0.927	0.804 0.255 0.671 0.561 0.564 0.924 0.336 0.235 0.260 0.520 0.146 0.760 0.626 0.588 0.526 0.526 0.850
	% Sloan	0.711	0.935	0.760
% Reilly	% Wilmore	0.583	0.931	0.626
	% Yuhasz	0.580	0.986	0.588
% Sloop	% Wilmore	0.434	0.826	0.526
70 510an	% Yuhasz	0.785	0.924	0.850
% Wilmore	% Yuhasz	0.301	0.948	0.318

Table 6. Lin's concordance correlation coefficient between the different formulas in women.

		Lin's Concordance Correlation Coefficient							
Va	riable	CCC	Q	Cb					
	% Durnin	0.460	0.958	0.480					
	% Evans	0.808	0.888	0.910					
	% Faulkner	0.823	0.959	0.858					
	% Katch	0.578	0.677	0.854					
	% Kerr	0.443	0.922	0.480					
% Carter	% Lean	0.198	0.851	0.233					
	% Peterson	0.120	0.886	0.136					
	% Sloan	0.453	0.886	0.511					
	% Thorland	0.610	0.866	0.704					
	% Wilmore	0.185	0.910	0.203					
	% Yuhasz	0.974	0.974	1.000					
	% Evans	0.257	0.834	0.308					
	% Faulkner	0.645	0.963	0.669					
	% Katch	0.324	0.625	0.519					
	% Kerr	0.847	0.850	0.996					
0/ December	% Lean	0.707	0.891	0.793					
% Dumin	% Peterson	0.438	0.881	0.498					
	% Sloan	0.768	0.892	0.860					
	% Thorland	0.762	0.886	0.860					
	% Wilmore	0.594	0.905	0.656					
	% Yuhasz	0.419	0.932	0.450					
	% Faulkner	0.521	0.830	0.628					
0/ E	% Katch	0.372	0.576	0.647					
% Evans	% Kerr	0.293	0.875	0.335					
	% Lean	0.133	0.832	0.160					

	~ % Peterson	0.081	0.860	0.094
	% Sloan	0.313	0.903	0.346
	% Thorland	0.433	0.844	0.513
	% Wilmore	0.114	0.846	0.135
	% Yuhasz	0.806	0.897	0.899
	% Katch	0.636	0.657	0.969
	% Kerr	0.587	0.864	0.680
	% Lean	0.298	0.867	0.344
	% Peterson	0.166	0.853	0.194
% Faulkner	% Sloan	0.700	0.898	0.780
	% Thorland	0.812	0.917	0.885
	% Wilmore	0.309	0.915	0.337
	% Yuhasz	0.808	0.944	0.856
	% Kerr	0.370	0.661	0.559
	% Lean	0.180	0.664	0.271
	% Peterson	0.111	0.732	0.152
% Katch	% Sloan	0.406	0.602	0.675
	% Thorland	0.568	0.739	0.768
	% Wilmore	0.226	0.828	0.273
	% Yuhasz	0.613	0.707	0.868
	% Lean	0.587	0.783	0.750
	% Peterson	0.367	0.790	0.464
	% Sloan	0.746	0.845	0.884
% Kerr	% Thorland	0.738	0.823	0.897
	% Wilmore	0.546	0.864	0.631
	% Yuhasz	0.451	0.927	0.487
	% Peterson	0.731	0.911	0.802
	% Sloan	0.497	0.910	0.546
% Lean	% Thorland	0.484	313 0.903 0.346 433 0.844 0.513 114 0.846 0.135 806 0.897 0.899 636 0.657 0.969 587 0.864 0.680 298 0.867 0.344 166 0.853 0.194 700 0.898 0.780 812 0.917 0.885 309 0.915 0.337 808 0.944 0.856 370 0.661 0.559 180 0.664 0.271 111 0.732 0.152 406 0.602 0.675 568 0.739 0.768 226 0.828 0.273 613 0.707 0.868 587 0.783 0.750 367 0.790 0.464 746 0.864 0.631 451 0.927 0.487 731 0.911 0.802 497 0.910 0.527 546	0.527
	% Wilmore	0.546	0.884	0.618
	% Yuhasz	0.208	0.880	0.236
	% Sloan	0.278	0.919	0.303
	% Thorland	0.286	0.911	0.313
% Peterson	% Wilmore	0.311	0.906	0.343
	% Yuhasz	0.126	0.916	0.137
	% Thorland	0.839	0.965	0.870
% Sloan	% Wilmore	0.571	0.900	0.634
70 010an	% Yuhacz	0.176	0.900	0.137
	% Wilmore	0.120	0.910	0.157
% Thorland	% Vubacz	0.40	0.003	0.400
% Wilmore	% Vubacz	0.042	0.203	0.711
	/o I UIIdSZ	0.171	0.740	0.207

		D	Kerr-Equation										
Equation	Variable (Mean ± SD)	Pearson's r	1.66		95% Limits								
-		(<i>p</i>)	Mean diff	95% CI	Lower Limit	Upper Limit	р						
Men													
Durnin	2.862 ± 0.601	0.695	2.86	1.64 to 4.08	-4.30	10.03	0.000						
Yuhasz	7.162 ± 0.492	0.938	7.16	6.16 to 8.16	1.29	13.03	0.000						
Faulkner	3.731 ± 0.542	0.767	3.73	2.63 to 4.83	-2.73	10.19	0.000						
Carter	7.002 ± 0.491	0.850	7.00	6.01 to 8.00	1.15	12.86	0.000						
Peterson	-2.717 ± 0.439	0.838	-2.72	-3.61 to -1.83	-7.95	2.52	0.000						
Hastuti	-1.875 ± 0.507	0.808	-1.88	-2.90 to -0.85	-7.92	4.17	0.001						
Katch	5.359 ± 0.459	0.858	5.36	4.43 to 6.29	-0.11	10.83	0.000						
Sloan	6.368 ± 0.351	6.368 ± 0.351 0.922		5.66 to 7.08	2.19	10.55	0.000						
Wilmore	2.013 ± 0.418	0.892	0.892 2.01 1		-2.97	7.00	0.000						
Evans	-1.625 ± 0.363	0.952	-1.62	-2.36 to -0.89	-5.95	2.70	0.000						
Reilly	4.658 ± 0.473	0.957	4.66	3.70 to 5.62	-0.99	10.30	0.000						
Civar	3.697 ± 0.508	0.843	3.70	2.67 to 4.73	-2.35	9.75	0.000						
Lean	1.563 ± 0.566	0.736	1.56	0.41 to 2.71	-5.19	8.32	0.009						
			Wor	nen									
Carter	6.107 ± 0.343	0.922	6.11	5.42 to 6.80	1.12	11.10	0.000						
Durnin	-0.465 ± 0.396	0.850	-0.47	-1.26 to 0.33	-6.22	5.29	0.245						
Evans	7.325 ± 0.436	0.875	7.33	6.45 to 8.20	0.99	13.66	0.000						
Faulkner	3.933 ± 0.392	0.864	3.93	3.15 to 4.72	-1.76	9.63	0.000						
Katch	4.331 ± 0.554	0.661	4.33	3.22 to 5.44	-3.72	12.39	0.000						
Lean	-3.611 ± 0.454	0.783	-3.61	-4.52 to -2.70	-10.21	2.99	0.000						
Peterson	-6.085 ± 0.464	0.790	-6.08	-7.02 to -5.15	-12.83	0.67	0.000						
Sloan	1.247 ± 0.415	0.845	1.25	0.42 to 2.08	-4.78	7.27	0.004						
Thorland	2.601 ± 0.440	0.823	2.60	1.72 to 3.48	-3.80	9.00	0.000						
Wilmore	-1.188 ± 0.512	0.864	-1.19	-2.21 to -0.16	-8.63	6.25	0.024						
Yuhasz	5.999 ± 0.340	0.927	6.00	5.32 to 6.68	1.05	10.94	0.000						

 Table 7. Inter-formula comparison for lipid percentage estimation in men and women.

Percent ile	BMI (kg/ m²)	∑8 Skinfolds (mm)	∑6 Skinfolds (mm)	∑4 Skinfolds (mm)	% Kerr	% Durnin	% Yuhasz	% Faulkner	% Carter	% Peterson	% Katch	% Sloan	% Wilmore	% Evans	% Lean	% Reill y	% Civar	% Hastuti
10	21.04	51.90	41.65	23.3	19.59	8.47	6.96	9.88	6.95	13.79	7.56	6.39	10.68	14.42	8.88	9.12	9.94	14.94
20	21.43	56.91	44.19	25.15	21.20	9.07	7.22	10.44	7.22	14.83	8.41	7.16	11.12	15.16	9.93	9.72	10.36	15.35
30	22.59	61.10	47.10	28.00	22.27	10.73	7.53	10.77	7.53	16.18	8.77	7.71	11.94	15.90	11.11	9.94	10.54	15.97
40	23.10	64.40	50.10	29.85	22.64	11.19	7.85	10.95	7.84	16.95	9.33	8.30	12.95	16.16	12.78	10.19	10.94	16.90
50	23.21	69.50	53.50	33.25	23.67	12.32	8.20	11.48	8.20	18.00	9.81	8.85	13.27	16.88	14.37	10.85	11.32	17.33
60	23.54	77.50	59.59	35.85	24.57	13.26	8.84	11.87	8.84	18.86	10.26	9.24	14.23	17.77	14.64	11.37	12.37	17.75
70	23.97	83.46	63.55	39.92	25.53	15.00	9.26	13.03	9.25	20.41	11.88	9.69	15.04	18.79	16.76	11.79	13.22	19.04
80	24.34	92.55	71.75	42.29	28.62	16.96	10.12	13.40	10.12	22.06	12.71	11.61	16.58	19.74	19.65	13.18	14.05	20.05
90	24.62	135.33	100.66	58.42	32.39	18.42	13.16	15.57	13.15	25.68	15.30	15.49	18.55	22.54	21.56	14.93	16.97	22.98

Table 8. Percentile relationships between BMI, skinfold sum, and adiposity formulas in men.

BMI: body mass index; %: percentage of fat mass.

Table 9. Percentile relationships between BMI, skinfold sum, and adiposity formulas in women.

Percentile	BMI (kg/ m²)	∑8 Skinfolds (mm)	∑6 Skinfolds (mm)	∑4 Skinfolds (mm)	% Kerr	% Durnin	% Yuhasz	% Faulkner	% Carter	% Peterson	% Katch	% Sloan	% Wilmore	% Evans	% Lean	% Thorland
10	20.13	70.37	57.87	28.50	24.64	15.68	12.53	14.76	12.53	23.93	14.60	16.75	21.08	11.16	20.46	13.15
20	20.73	77.75	63.00	32.25	27.32	18.68	13.33	15.46	13.33	25.27	15.56	17.88	21.99	12.51	22.10	13.74
30	21.33	89.62	72.62	36.12	28.76	20.20	14.82	16.68	14.82	27.14	16.64	19.18	22.35	13.62	24.67	16.06
40	21.71	98.00	79.50	42.00	29.74	22.76	15.88	17.88	15.88	28.03	17.29	20.12	23.65	15.08	25.89	17.89
50	22.02	111.05	89.25	47.75	32.31	23.44	17.39	18.49	17.39	29.20	18.31	21.87	23.75	15.84	26.79	20.76
60	22.29	115.75	92.00	52.30	33.65	24.93	17.82	19.61	17.82	30.27	19.39	22.40	24.48	16.70	27.93	21.93
70	22.96	123.37	95.37	53.62	34.37	26.29	18.34	20.54	18.34	31.26	20.14	23.44	25.32	17.04	28.88	22.96
80	23.58	128.50	102.70	57.50	35.68	27.80	19.47	21.90	19.47	32.05	20.59	24.45	25.82	17.49	29.29	25.09
90	24.36	140.25	113.87	65.32	36.91	29.66	21.20	23.55	21.20	32.95	21.83	26.55	26.33	18.34	30.82	26.52

BMI: body mass index; %: percentage of fat mass.

4. Discussion

The main objective of the present investigation was to analyze the differences and agreement between the most commonly used formulas for lipid estimation between themselves and in comparison with Kerr's adiposity formula, once its lipid content was estimated, and to compare the results reported by the different formulas with those found with Kerr's formula. This is important because the present research is the first to take into consideration that, while most anthropometric equations estimate lipid mass by addressing body composition from a molecular fractionation point of view, the only exception is the Kerr formula, which seeks to estimate adipose mass from the tissular model. As the estimation of these formulae is not comparable, the lipid content of the Kerr formula was calculated from the Martin's formula [49], formulated by linear regression on cadavers and therefore with a very high validation power.

The results indicated that there were significant differences between most of the formulas, ranging from $8.90 \pm 2.17\%$ to $17.91 \pm 2.84\%$ for men, and from $15.33 \pm 2.94\%$ to $28.79 \pm 3.30\%$ for women. In the same vein, most of the formulas showed poor concordance (CCC < 0.900). In fact, the Bland–Altman test also showed differences in the results reported in most equations with respect to Kerr's formula. These results agree with those found in the literature, supporting the idea that there are differences when using different skinfold-based equations for lipid mass estimation in active adults [5]. These differences could be due to the heterogeneity of the samples with which the equations were validated (Table 1), as very different inclusion and exclusion criteria were used in the design [19– 33].

Another possible reason is that all formulas, with the exception of Kerr, performed a linear regression analysis to estimate lipid percentage from anthropometry [21,23,24,26,27,31]. This is the estimation of the body density from the skinfolds included a process carried out by regression considering the skinfolds and the density given in the validation sample of each formula [9]. From this density value, the lipid mass present is estimated. This statistical strategy makes each formula specific to the study population included. The formulas only consider lipid levels and bodies similar to those included during their validation [9]. This could explain why the Yuhasz and Carter formulas, validated on elite athletes, showed the lowest mean values in this research [21,23].

Moreover, the method of validation of these formulas was not uniform, which could affect the equations reported by the different formulas (Table 1). In this regard, while Kerr's formula was validated by dissection of cadavers [19], most of the others used an indirect method such as hydrodensitometry for their validation [20-22,25-27]. Hydrodensitometry is an indirect method for estimating body composition that has several limitations, such as not being validated on cadavers [9]. Another of its limitations is that, as different densities are involved in the lipid estimation by this method, the estimation is influenced by the total body water. Thus, we find contaminating factors for the estimation of body composition by hydrodensitometry factors, such as renal and hepatic pathologies, but also diet, exercise, or the consumption of certain supplements such as creatine [6,7]. In turn, hydrodensitometry requires the assignment of constant values for fat mass (0.900 g/cm^3) and fat-free mass (1.100 g/cm^3) [6,7]. However, cadaveric studies have shown that fat-free mass density varies widely between subjects, as it encompasses a wide variety of tissues with very different characteristics [51]. These limitations were evident in previous studies, where American football players were analyzed by hydrodensitometry, and some of them, being very lean and African-American, yielded negative body lipid values [9]. Taking into account the importance of the selection of the validation method for the reliability of the formula, and the problems presented by hydrodensitometry as a method for estimating body composition [6,7], this could be one of the main reasons for the differences found between the different formulas. Regarding the validation of the formula, the case of Peterson's formula is curious, as it was validated on the basis of the results from Durnin's anthropometric formula [24], thus being a dual indirect method of estimating body composition. There are only three formulas included in the study that were validated with DXA [28,32]. Although DXA has been scientifically considered the gold standard method for validating body composition in the absence of the possibility of cadaver dissection, this method has a major limitation when estimating lipid percentage, as it assumes that the amount of fat on bone tissue is the same as the amount of fat on soft tissues [52]. On the other hand, Hastuti's formula used deuterium oxide dilution as a validation method [33], a technique widely used to estimate body water percentage and body composition in animals, although it is in complete disuse in humans. Its main limitation is that it is highly dependent on the body water present, and therefore any factor affecting these values also alters the lipid percentage reported [53].

On the other hand, other very relevant factors that explain the differences between formulas are the anthropometric variables included in it (Table 1). Durnin included only four skinfolds (triceps, biceps, subscapular, and supraspinal), while Thorland [30], Civar, and Katch only included the triceps, subscapular and iliac crest skinfolds, with all these cases not analyzing the adiposity present in the lower limbs [20,25,31]. This is a major disadvantage especially for women, who tend to accumulate fat in the lower trunk and lower limbs [39]. Furthermore, these excluded skinfolds showed the highest correlation with the constants used in cadavers [54]. In Reilly's case [32], the formula includes triceps, abdominal, thigh, and calf skinfolds. Sloan [26] and Wilmore [27] only include two skinfolds in their analysis. The first covered the subscapular and thigh skinfolds [26], while the second incorporated abdominal and thigh skinfolds [27]. This results in too many body segments being excluded from the analysis, with their validity questioned [55]. Kerr, Carter, and Yuhasz, instead, include six skinfolds that were evenly distributed throughout the body: two from the upper body (triceps and subscapular), two from the central area (supraspinal and abdominal), and two from the lower limbs (thigh and calf) [19,21,23]. This makes more sense from a biological significance point of view, as the inclusion of more skinfolds covers more possible areas of fat accumulation [55]. Kerr adds the strength of including height in his assessment, which allows the three-dimensionality of masses to be considered. This is very relevant when working with subjects who have a great variability in height, as in the case of athletes, children, and adolescents [9]. In fact, previous studies showed an under- and overestimation error of up to 30% when applying the Durnin and Wilmore formulas to extreme populations such as dwarfs and subjects with achondroplasia [56].

Another factor that could explain the differences found between the different equations is the measurement protocol used for the validation of the formulas and the anthropometric measurements. Thus, Kerr followed the same protocol as that used by Ross for the Phantom stratagem in 1974 [57], which has many similarities with the ISAK protocol used for taking measurements in the present research, with the Australian school being the basis of the origin of ISAK [48]. In turn, part of their validation was done with cadaver data, to which the Ross protocol was applied [19]. Durnin and Lean followed the Weiner protocol, which performs measurements on the left side of the body contrary to the ISAK method [58]. There are contradictory results on whether the distribution of adiposity is symmetrical between the dominant and non-dominant side. Thus, while some manuals state that there are no significant differences in the thickness of skinfolds depending on the side analyzed [46], other studies have found that asymmetric losses of adipose content may occur when caloric expenditure is unilateral or focused on a certain area [59,60]. This could mean that the side chosen for the anthropometric measurement could influence the results obtained. Another interesting fact is that the Weiner protocol proposes taking the thigh skinfold with the subject's leg flexed at 90°, while ISAK proposes taking it with the leg extended [58]. This can clearly lead to differences in the distribution of adiposity in the area, and consequently to different values for the skinfolds yielded [58]. Moreover, in most cases, as with Yuhasz, Carter, Wilmore, Katch, Sloan, and Peterson, the protocol followed was not specified [21,23–27]. This relativizes the importance given to standardization and the taking of measurements during the validation of their formulas, despite it being a fundamental factor in the taking of anthropometric measurements. In this sense, the non-standardization of measurements or the use of different protocols leads to errors that make comparisons difficult, limiting the advantages of the anthropometric method in the estimation of the lipid component [61].

A significant finding of the present investigation was that in females, no significant differences were found between the Kerr and Durnin formulas, despite the fact that these formulas showed low concordance in both males and females (SCC = 0.579–0.847). In addition, the Bland–Altman test showed that both formulas reported similar results. This could be due to the fact that both equations included a population with similar characteristics [19,20], although there were large differences in the skinfolds and body areas included. Following these promising results, more research is needed in this regard.

It is important to mention that the present study has certain limitations, mainly related to the study population included. The participants included in the present research are physically active and healthy individuals without excessive adiposity. However, the characteristics of the populations included in the validation of the different equations differ in some socio-demographic characteristics with respect to the population of the present research. This license has been allowed, as this is common practice in both the scientific and clinical fields, due to the difficulty of finding a formula validated in a population with the exact characteristics of the study population in each case. Future research should address the validity of these formulas in different populations in relation to the gold standard (DEXA).

Regarding the practical applications of this research, given the great heterogeneity found between the results reported by the different formulas, we recommend the use of Kerr's formula in both sexes for the assessment of active young people, while Durnin's formula can also be used in the case of women.

5. Conclusions

Differences were found between the formulas for estimating body lipid levels with anthropometry. In addition, most of them showed poor agreement. This is evidence that their results are not comparable and highlights the need to use the same formula both when comparing using references, and when assessing progress in the same subject. In this case, Kerr's formula is positioned as the best alternative, as it was validated on cadavers, included six skinfolds from different body segments, and followed a standardized protocol during its validation, and it is currently the most widely used worldwide.

Author Contributions: Conceptualization, M.M.-C., R.V.-C., and F.E.-R.; methodology, M.M.-C., R.V.-C., M.A.-S., and F.E.-R.; formal analysis, M.M.-C., R.V.-C. and M.A.-S.; investigation, M.M.-C.; data curation, M.M.-C. and M.A.-S.; writing—original draft preparation, M.M.-C., R.V.-C., and M.A.-S.; writing—review and editing, R.V.-C., M.A.-S. and F.E.-R; visualization R.V.-C.; supervision, R.V.-C. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding. This manuscript is part of the doctoral thesis of M.M.-C.

Institutional Review Board Statement: The study was conducted in accordance with the Declaration of Helsinki, and approved by the Institutional Ethics Committee of Universidad Católica San Antonio de Murcia (protocol code CE062103 and date of approval: 07/06/2020).

Informed Consent Statement: Informed consent was obtained from each person involved in the study.

Data Availability Statement: The datasets generated during and/or analyzed during the current study are available from the corresponding author on reasonable request.

Conflicts of Interest: The authors declare no conflict of interest.

References

- Carnero, E.A.; Alvero-Cruz, J.R.; Giráldez, M.A.; Sardinha, L.B. La Evaluación de La Composición Corporal "In Vivo"; Parte I: Perspectiva Histórica. Nutr. Hosp. 2015, 31, 1957–1967. https://doi.org/10.3305/nh.2015.31.5.8570.
- Ben Mansour, G.; Kacem, A.; Ishak, M.; Grélot, L.; Ftaiti, F. The effect of body composition on strength and power in male and female students. *BMC Sports Sci. Med. Rehabil.* 2021, 13, 150. https://doi.org/10.1186/s13102-021-00376-z.
- Pletcher, E.R.; Lovalekar, M.; Coleman, L.C.; Beals, K.; Nindl, B.C.; Allison, K.F. Decreased Percent Body Fat but Not Body Mass is Associated with Better Performance on Combat Fitness Test in Male and Female Marines. J. Strength Cond. Res. 2022, 24, Online (ahead of print). https://doi.org/10.1519/jsc.00000000004335.
- Doran, D.A.; Mc Geever, S.; Collins, K.D.; Quinn, C.; McElhone, R.; Scott, M. The Validity of Commonly Used Adipose Tissue Body Composition Equations Relative to Dual Energy X-ray Absorptiometry (DXA) in Gaelic Games Players. *Int. J. Sports Med.* 2014, 35, 95–100. https://doi.org/10.1055/s-0033-1333693.
- Vaquero-Cristóbal, R.; Albaladejo-Saura, M.; Luna-Badachi, A.E.; Esparza-Ros, F. Differences in Fat Mass Estimation Formulas in Physically Active Adult Population and Relationship with Sums of Skinfolds. *Int. J. Environ. Res. Public Health* 2020, 17, 7777. https://doi.org/10.3390/ijerph17217777.
- Kasper, A.M.; Langan-Evans, C.; Hudson, J.F.; Brownlee, T.E.; Harper, L.D.; Naughton, R.J.; Morton, J.P.; Close, G.L. Come Back Skinfolds, All Is Forgiven: A Narrative Review of the Efficacy of Common Body Composition Methods in Applied Sports Practice. *Nutrients* 2021, 13, 1075. https://doi.org/10.3390/nu13041075.
- Campa, F.; Toselli, S.; Mazzilli, M.; Gobbo, L.A.; Coratella, G. Assessment of Body Composition in Athletes: A Narrative Review of Available Methods with Special Reference to Quantitative and Qualitative Bioimpedance Analysis. *Nutrients* 2021, 13, 1620. https://doi.org/10.3390/nu13051620.
- Esparza-Ros, F.; Moreira, A.C.; Vaquero-Cristóbal, R.; Barrigas, C.; Albaladejo-Saura, M.; Vieira, F. Differences between Four Skinfold Calipers in the Assessment of Adipose Tissue in Young Adult Healthy Population. *Nutrients* 2022, 14, 2085. https://doi.org/10.3390/nu14102085.
- Holway, F.; Boullosa, M.; Peniche, Z. Composición Corporal En Nutrición Deportiva. In Nutrición Aplicada al Deporte; Boullosa, M.B., Peniche, Z.C., Eds.; McGraw Hill: Madrid, Spain, 2011; pp. 195–218. ISBN 9786071505705.
- Moreira, O.C.; Alonso-Aubin, D.A.; de Oliveira, C.E.P.; Candia-Luján, R.; De Paz, J.A. Métodos de Evaluación de La Composición Corporal: Una Revisión Actualizada de Descripción, Aplicación, Ventajas y Desventajas. *Arch. Med. Deport.* 2015, *32*, 387– 394.
- 11. Duren, D.L.; Sherwood, R.J.; Czerwinski, S.A.; Lee, M.; Choh, A.C.; Siervogel, R.M.; Chumlea, W.C. Body Composition Methods: Comparisons and Interpretation. *J. Diabetes Sci. Technol.* **2008**, *2*, 1139–1146. https://doi.org/10.1177/193229680800200623.
- 12. Silva, A.M.; Heymsfield, S.B.; Sardinha, L.B. Assessing body composition in taller or broader individuals using dual-energy X-ray absorptiometry: A systematic review. *Eur. J. Clin. Nutr.* **2013**, *67*, 1012–1021. https://doi.org/10.1038/ejcn.2013.148.
- Khalil, S.F.; Mohktar, M.S.; Ibrahim, F. The Theory and Fundamentals of Bioimpedance Analysis in Clinical Status Monitoring and Diagnosis of Diseases. Sensors 2014, 14, 10895–10928. https://doi.org/10.3390/s140610895.
- Nickerson, B.S.; Snarr, R.L.; Ryan, G.A. Validity of Foot-To-Foot Bioelectrical Impedance for Estimating Body Composition in NCAA Division I Male Athletes: A 3-Compartment Model Comparison. J. Strength Cond. Res. 2019, 33, 3361–3366. https://doi.org/10.1519/jsc.00000000002999.
- 15. Tinsley, G.M.; Morales, E.; Forsse, J.S.; Grandjean, P.W. Impact of Acute Dietary Manipulations on DXA and BIA Body Composition Estimates. *Med. Sci. Sports Exerc.* 2017, *49*, 823–832. https://doi.org/10.1249/mss.00000000001148.
- 16. Coppini, L.Z.; Waitzberg, D.L.; Campos, A.C.L. Limitations and validation of bioelectrical impedance analysis in morbidly obese patients. *Curr. Opin. Clin. Nutr. Metab. Care* 2005, *8*, 329–332. https://doi.org/10.1097/01.mco.0000165013.54696.64.
- Alvero Cruz, J.R.; Cabañas Armesilla, M.D.; Herrero deLucas, A.; Martinez Riaza, L.; Moreno Pascual, C.; Porta Manzañido, J.; Sillero Quintana, M.; Sirvent Belando, J.E. Protocolo de Valoración de La Composición Corporal Para El Reconocimiento Médico-Deportivo. Documento de Conseno Del Grupo Español de Cineantropometría de La Federación Española de Medicina Del Deporte. Arch. Med. Deporte 2009, 26, 166–179.
- 18. Kerr, A.; Slater, G.J.; Byrne, N. Impact of food and fluid intake on technical and biological measurement error in body composition assessment methods in athletes. *Br. J. Nutr.* **2017**, *117*, 591–601. https://doi.org/10.1017/s0007114517000551.
- 19. Ross, W.D.; Kerr, D.A. Fraccionamiento de La Masa Corporal: Un Nuevo Método Para Utilizar En Nutrición Clínica y Medicina Deportiva. *Apunts* **1991**, *18*, 175–187.
- Durnin, J.V.G.A.; Womersley, J. Body fat assessed from total body density and its estimation from skinfold thickness: Measurements on 481 men and women aged from 16 to 72 Years. *Br. J. Nutr.* 1974, 32, 77–97. https://doi.org/:10.1079/bjn19740060.
- 21. Yuhasz, M. Physical Fitness Manual; University of Western Ontario: London, ON, Canada, 1974.
- 22. Faulkner, J.A. Physiology of Swimming. Res. Q. Am. Assoc. Health Phys. Educ. Recreat. 1966, 37, 41–54. https://doi.org/10.1080/10671188.1966.10614734.
- 23. Carter, J.E.L. Physical Structure of Olympic Athletes: Part I: The Montreal Olympic Games Anthropological Project; S Karger Ag: Basel, Switzerland, 1982.
- 24. Peterson, M.J.; Czerwinski, S.A.; Siervogel, R.M. Development and validation of skinfold-thickness prediction equations with a 4-compartment model. *Am. J. Clin. Nutr.* **2003**, *77*, 1186–1191. https://doi.org/10.1093/ajcn/77.5.1186.
- Katch, F.I.; McArdle, W.D. Validity of body composition prediction equations for college men and women. *Am. J. Clin. Nutr.* 1975, 28, 105–109. https://doi.org/10.1093/ajcn/28.2.105.

- 26. Sloan, A.W. Estimation of body fat in young men. J. Appl. Physiol. 1967, 23, 311–315. https://doi.org/10.1152/jappl.1967.23.3.311.
- Wilmore, J.H.; Behnke, A.R. An anthropometric estimation of body density and lean body weight in young men. J. Appl. Physiol. 1969, 27, 25–31. https://doi.org/10.1152/jappl.1969.27.1.25.
- Evans, E.M.; Rowe, D.A.; Misic, M.M.; Prior, B.M.; Arngrímsson, S. Skinfold Prediction Equation for Athletes Developed Using a Four-Component Model. *Med. Sci. Sports Exerc.* 2005, 37, 2006–2011. https://doi.org/10.1249/01.mss.0000176682.54071.5c.
- 29. Lean, M.E.; Han, T.S.; Deurenberg, P. Predicting body composition by densitometry from simple anthropometric measurements. *Am. J. Clin. Nutr.* **1996**, *63*, 4–14. https://doi.org/10.1093/ajcn/63.1.4.
- 30. Thorland, W.G.; Johnson, G.O.; Tharp, G.D.; Housh, T.J.; Cisar, C.J. Estimation of body density in adolescent athletes. *Hum. Biol.* **1984**, *56*, 439–448.
- Civar, S.; Aktop, A.; Tercan, E.; Ozdol, Y.; Ozer, K. Validity of Leg-to-Leg Bioelectrical Impedance Measurement in Highly Active Women. J. Strength Cond. Res. 2006, 20, 359–365. https://doi.org/10.1519/00124278-200605000-00021.
- Reilly, T.; George, K.; Marfell-Jones, M.; Scott, M.; Sutton, L.; Wallace, J. How Well do Skinfold Equations Predict Percent Body Fat in Elite Soccer Players? *Int. J. Sports Med.* 2009, *30*, 607–613. https://doi.org/10.1055/s-0029-1202353.
- 33. Hastuti, J.; Kagawa, M.; Byrne, N.M.; Hills, A.P. Development and validation of anthropometric prediction equations for estimation of body fat in Indonesian men. *Asia Pac. J. Clin. Nutr.* **2013**, *22*, 522–529. https://doi.org/10.6133/apjcn.2013.22.4.14.
- Sansone, P.; Makivic, B.; Csapo, R.; Hume, P.; Martínez-Rodríguez, A.; Bauer, P. Body Fat of Basketball Players: A Systematic Review and Meta-Analysis. Sports Med. Open 2022, 8, 26. https://doi.org/10.1186/s40798-022-00418-x.
- Petri, C.; Campa, F.; Teixeira, V.H.; Izzicupo, P.; Galanti, G.; Pizzi, A.; Badicu, G.; Mascherini, G. Body Fat Assessment in International Elite Soccer Referees. J. Funct. Morphol. Kinesiol. 2020, 5, 38. https://doi.org/10.3390/jfmk5020038.
- López-Taylor, J.R.; González-Mendoza, R.G.; Gaytan-Gonzalez, A.; Jiménez-Alvarado, J.A.; Villegas-Balcazar, M.; Jáuregui-Ulloa, E.E.; Torres-Naranjo, F. Accuracy of Anthropometric Equations for Estimating Body Fat in Professional Male Soccer Players Compared with DXA. J. Sports Med. 2018, 2018, 1–7. https://doi.org/10.1155/2018/6843792.
- Wang, Z.-M.; Ma, R.; Pierson, R.N.; Heymsfield, S.B. Five-Level Model: Reconstruction of Body Weight at Atomic, Molecular, Cellular, and Tissue-System Levels from Neutron Activation Analysis. In *Human Body Composition*; Ellis, K.J., Eastman, J.D., Eds.; Springer, Boston, MA, USA, 1993; Volume 60, pp. 125–128. https://doi.org/10.1007/978-1-4899-1268-8_28.
- Martin, A.D.; Ross, W.D.; Drinkwater, D.T.; Clarys, J.P. Prediction of body fat by skinfold caliper: Assumptions and cadaver evidence. Int. J. Obes. 1985, 9, 31–39.
- Karastergiou, K.; Smith, S.R.; Greenberg, A.S.; Fried, S.K. Sex differences in human adipose tissues–the biology of pear shape. *Biol. Sex Differ.* 2012, *3*, 13. https://doi.org/10.1186/2042-6410-3-13.
- 40. Almecija, A.M.; García, J.M.; Acosta, A.P. *Tamaño de Muestra y Precisión Estadística*; Universidad de Almería: Almería, Spain, 2004; Volume 23.
- Vaquero-Cristóbal, R.; Alacid, F.; Esparza-Ros, F.; López-Plaza, D.; Muyor, J.M.; López-Miñarro, P.A. The effects of a reformer Pilates program on body composition and morphological characteristics in active women after a detraining period. *Women Health* 2016, 56, 784–806. https://doi.org/10.1080/03630242.2015.1118723.
- Vaquero-Cristóbal, R.; García-Roca, J.A.; Albaladejo, M.; Fernández-Alarcón, M.; Esparza-Ros, F. Evolution in anthropometric variables related to training and nutritional parameters in ultra-endurance mountain runners. *Nutr. Hosp.* 2019, 36, 706–713. https://doi.org/10.20960/nh.2333.
- Roman-Viñas, B.; Serra-Majem, L.; Hagstromer, M.; Ribas-Barba, L.; Sjöström, M.; Segura-Cardona, R. International Physical Activity Questionnaire: Reliability and validity in a Spanish population. *Eur. J. Sport Sci.* 2010, 10, 297–304. https://doi.org/10.1080/17461390903426667.
- Craig, C.L.; Marshall, A.L.; Sjöström, M.; Bauman, A.E.; Booth, M.L.; Ainsworth, B.E.; Pratt, M.; Ekelund, U.L.; Yngve, A.; Sallis, J.F.; et al. International Physical Activity Questionnaire: 12-Country Reliability and Validity. *Med. Sci. Sports Exerc.* 2003, 35, 1381–1395. https://doi.org/10.1249/01.mss.0000078924.61453.fb.
- Crespo-Salgado, J.J.; Delgado-Martín, J.L.; Blanco-Iglesias, O.; Aldecoa-Landesa, S. Guía básica de detección del sedentarismo y recomendaciones de actividad física en atención primaria. *Aten. Prim.* 2014, 47, 175–183. https://doi.org/10.1016/j.aprim.2014.09.004.
- 46. Esparza-Ros, F.; Vaquero-Cristobal, R.; Marfell-Jones, M. *International Standards for Anthropometric Assessment*; UCAM Universidad Católica de Murcia, Ed.; International Society for the Advancement of Kinanthropometry: Murcia, Spain, 2019.
- 47. Martin, A.D.; Daniel, M.Z.; Drinkwater, D.T.; Clarys, J.P. Adipose tissue density, estimated adipose lipid fraction and whole body adiposity in male cadavers. *Int. J. Obes. Relat. Metab. Disord.* **1994**, *18*, 79–83.
- 48. McBride, G. Statistical Calculators; NIWA: Auckland, New Zealand, 2007.
- Coratella, G.; Campa, F.; Matias, C.N.; Toselli, S.; Koury, J.C.; Andreoli, A.; Sardinha, L.B.; Silva, A.M. Generalized bioelectric impedance-based equations underestimate body fluids in athletes. *Scand. J. Med. Sci. Sports* 2021, 31, 2123–2132. https://doi.org/10.1111/sms.14033.
- Marcos-Pardo, P.J.; González-Gálvez, N.; López-Vivancos, A.; Espeso-García, A.; Manuel Martínez-Aranda, L.; María Gea-García, G.; Orquín-Castrillón, F.J.; Carbonell-Baeza, A.; Daniel Jiménez-García, J.; Velázquez-Díaz, D.; et al. Sarcopenia, Diet, Physical Activity and Obesity in European Middle-Aged and Older Adults: The LifeAge Study. *Nutrients* 2020, *13*, 8. https://doi.org/10.3390/nu13010008.

- Wang, Z.; Heshka, S.; Wang, J.; Wielopolski, L.; Heymsfield, S.B. Magnitude and Variation of Fat-Free Mass Density: A Cellular-Level Body Composition Modeling Study. *Am. J. Physol. Endocrinol. Metab.* 2003, 284, E267–E273. https://doi.org/10.1152/ajpendo.00151.2002.-The.
- Mohammad, A.; De Lucia Rolfe, E.; Sleigh, A.; Kivisild, T.; Behbehani, K.; Wareham, N.J.; Brage, S.; Mohammad, T. Validity of visceral adiposity estimates from DXA against MRI in Kuwaiti men and women. *Nutr. Diabetes* 2017, 7, e238. https://doi.org/10.1038/nutd.2016.38.
- Zamora Salas, J.D.; Murray Laclé, A. Evaluación Antropométrica y Composición Corporal Por medio de Óxido de Deuterio En Escolares Costarricenses. *Arch. Latinoam. Nutr.* 2018, 68, 313-320. Available online: http://www.alanrevista.org/ediciones/2018/4/art-4/ (accessed on 17 August 2022).
- 54. Clarys, J.P.; Martin, A.D.; Drinkwater, D.T.; Marfell-Jones, M.J. The skinfold: Myth and reality. J. Sports Sci. 1987, 5, 3–33. https://doi.org/10.1080/02640418708729760.
- 55. Aldosky, H.Y.Y.; Yildiz, A.; Hussein, H.A. Regional body fat distribution assessment by bioelectrical impedance analysis and its correlation with anthropometric indices. *Phys. Med.* **2018**, *5*, 15–19. https://doi.org/10.1016/j.phmed.2018.02.001.
- Owen, O.E.; Smalley, K.J.; D'alessio, D.A.; Mozzoli, M.A.; Knerr, A.N.; Kendrick, Z.V.; Kavle, E.C.; Donohoe, M.; Tappy, L.; Boden, G. Resting Metabolic Rate and Body Composition of Achondroplastic Dwarfs. *Medicine* 1990, 69, 56–67. https://doi.org/10.1097/00005792-199001000-00005.
- 57. Ross, W.D.; Wilson, N.C. A stratagem for proportional growth assessment. Acta Paediatr. Belg. 1974, 28, 169–182.
- 58. Weiner, J.; Lourie, J. Human Biology, A Guide to Field Methods; Blackwell Scientific: Oxford, UK, 1969; p. 621.
- Olson, A.L.; Edelstein, E. Spot Reduction of Subcutaneous Adipose Tissue. Res. Q. Am. Assoc. Health Phys. Educ. Recreat. 1968, 39, 647–652. https://doi.org/10.1080/10671188.1968.10616592.
- 60. Di Palumbo, A.S.; Guerra, E.; Orlandi, C.; Bazzucchi, I.; Sacchetti, M. Effect of combined resistance and endurance exercise training on regional fat loss. *J. Sports Med. Phys. Fit.* **2017**, *57*, 794–801. https://doi.org/10.23736/S0022-4707.16.06358-1.
- Norton, K.I. Standards for Anthropometry Assessment. In *Kinanthropometry and Exercise Physiology*; Routledge: Oxfordshire, UK, 2018; pp. 68–137. ISBN 9781315385662.